Y on 64 Elements

==================== Begin File Remarks ================-
Conduction example of Section 12.4 45
Kx=Ky=8,Q=8, /l
L.19 =1L_9.45 = 4, Thickness = 1 /|
with 1/8 symmetry, so natural BC on / [
edges 1 45 and 1.9 is g_n = @ / [
EBC on edge 9-45 is T = 5 / [
Kx T,xx + Ky T,yy +Q =20 / |

|

Other edges are symmetric. NBC=© 1-|------- 9 --x
=SS =SS=S==S=S=S=S==S====== End File Remar“ks === ======S========

FE Mesh Shrink: 64 Elements (1 Types), 45 Nodes (3 per element)
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FE Mesh; 45 Nodes with BC or MPC Noted
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X for 64 Elements with 3 nodes
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Component 1 (max = 8.5629, min = 5)

Y on 64 Elements
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Scalar Result (max = 8.5629, min = 5)
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FEA Solution Component_1: 64 Elements, 45 Nodes
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Y; for 45 Nodes

Y Coordinate on 64 Elements
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Element 2-D Flux Vectors at 64 Gauss Pts, max = 1.474e+01
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X for 64 Elements with 3 nodes

Nodal SCP Averaged 2-D Flux Vectors, max = 1.59e+01

X Coordinate at 45 Nodes
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